This is a sample report showing how Doddle Report works

Low Stock

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

Name	Description	<u>Price</u>	Order Count	Last Purchase	Units In Stock	
Product1	This is an example description showing long text in some of the items. Here is some UTF text €	\$68.54	27	6/26/2027	845	No
Product2	This is an example description showing long text in some of the items. Here is some UTF text €	\$73.76	792	12/1/2027	798	No
Product3	This is an example description showing long text in some of the items. Here is some UTF text €	\$69.91	901	6/26/2026	854	No
Product4	This is an example description showing long text in some of the items. Here is some UTF text €	\$97.56	485	4/3/2026	0	Yes
Product5	This is an example description showing long text in some of the items. Here is some UTF text €	\$18.87	214	5/13/2027	850	No
Product6	This is an example description showing long text in some of the items. Here is some UTF text €	\$48.78	879	5/25/2027	740	No
Product7	This is an example description showing long text in some of the items. Here is some UTF text €	\$61.90	83	1/16/2028	886	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product8	This is an example description showing long text in some of the items. Here is some UTF text €	\$96.60	557	3/5/2028	165	Yes
Product9	This is an example description showing long text in some of the items. Here is some UTF text €	\$95.30	218	6/4/2026	686	No
Product10	This is an example description showing long text in some of the items. Here is some UTF text €	\$99.30	653	1/28/2026	34	Yes
Product11	This is an example description showing long text in some of the items. Here is some UTF text €	\$24.29	459	6/12/2026	733	No
Product12	This is an example description showing long text in some of the items. Here is some UTF text €	\$85.37	370	1/4/2028	543	No
Product13	This is an example description showing long text in some of the items. Here is some UTF text €	\$98.20	242	4/7/2027	170	Yes
Product14	This is an example description showing long text in some of the items. Here is some UTF text €	\$82.58	863	10/2/2025	805	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

Name	Description	<u>Price</u>	Order Count	Last Purchase	Onlis in otock	
Product15	This is an example description showing long text in some of the items. Here is some UTF text €	\$34.72	972	2/25/2026	654	No
Product16	This is an example description showing long text in some of the items. Here is some UTF text €	\$87.57	984	10/24/2027	141	Yes
Product17	This is an example description showing long text in some of the items. Here is some UTF text €	\$93.57	181	1/1/2028	757	No
Product18	This is an example description showing long text in some of the items. Here is some UTF text €	\$16.01	576	7/21/2025	535	No
Product19	This is an example description showing long text in some of the items. Here is some UTF text €	\$1.62	634	3/13/2027	27	Yes
Product20	This is an example description showing long text in some of the items. Here is some UTF text €	\$54.64	946	12/17/2027	248	Yes
Product21	This is an example description showing long text in some of the items. Here is some UTF text €	\$17.87	373	1/4/2028	723	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase	CIEGO	5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5
Product22	This is an example description showing long text in some of the items. Here is some UTF text €	\$92.51	795	6/18/2026	89	Yes
Product23	This is an example description showing long text in some of the items. Here is some UTF text €	\$13.86	520	6/18/2026	20	Yes
Product24	This is an example description showing long text in some of the items. Here is some UTF text €	\$42.71	543	12/19/2025	258	Yes
Product25	This is an example description showing long text in some of the items. Here is some UTF text €	\$62.75	192	9/19/2027	671	No
Product26	This is an example description showing long text in some of the items. Here is some UTF text €	\$46.89	147	8/1/2026	405	No
Product27	This is an example description showing long text in some of the items. Here is some UTF text €	\$23.43	97	12/15/2025	191	Yes
Product28	This is an example description showing long text in some of the items. Here is some UTF text €	\$25.59	52	3/30/2026	400	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase	Units in Stock	: : -)
Product29	This is an example description showing long text in some of the items. Here is some UTF text €	\$8.55	977	11/1/2026	502	No
Product30	This is an example description showing long text in some of the items. Here is some UTF text €	\$8.01	108	2/15/2026	140	Yes
Product31	This is an example description showing long text in some of the items. Here is some UTF text €	\$84.23	811	3/24/2027	639	No
Product32	This is an example description showing long text in some of the items. Here is some UTF text €	\$23.72	986	10/30/2025	472	No
Product33	This is an example description showing long text in some of the items. Here is some UTF text €	\$47.56	348	8/18/2026	354	No
Product34	This is an example description showing long text in some of the items. Here is some UTF text €	\$14.89	214	9/2/2027	31	Yes
Product35	This is an example description showing long text in some of the items. Here is some UTF text €	\$99.04	499	11/15/2026	827	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase	Cies	
Product36	This is an example description showing long text in some of the items. Here is some UTF text €	\$64.04	147	10/25/2027	86	Yes
Product37	This is an example description showing long text in some of the items. Here is some UTF text €	\$26.08	939	2/4/2028	449	No
Product38	This is an example description showing long text in some of the items. Here is some UTF text €	\$6.81	656	1/8/2026	519	No
Product39	This is an example description showing long text in some of the items. Here is some UTF text €	\$97.60	657	10/21/2027	657	No
Product40	This is an example description showing long text in some of the items. Here is some UTF text €	\$52.91	743	12/29/2025	247	Yes
Product41	This is an example description showing long text in some of the items. Here is some UTF text €	\$98.94	682	6/30/2027	907	No
Product42	This is an example description showing long text in some of the items. Here is some UTF text €	\$65.17	904	3/22/2026	870	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

Name	Description	<u>Price</u>	Order Count	Last Purchase	Chits in viock	
Product43	This is an example description showing long text in some of the items. Here is some UTF text €	\$19.75	444	12/7/2026	580	No
Product44	This is an example description showing long text in some of the items. Here is some UTF text €	\$61.89	388	11/26/2026	694	No
Product45	This is an example description showing long text in some of the items. Here is some UTF text €	\$97.72	531	7/28/2026	298	Yes
Product46	This is an example description showing long text in some of the items. Here is some UTF text €	\$5.15	658	8/22/2026	819	No
Product47	This is an example description showing long text in some of the items. Here is some UTF text €	\$17.05	881	7/27/2026	491	No
Product48	This is an example description showing long text in some of the items. Here is some UTF text €	\$38.52	122	11/28/2026	247	Yes
Product49	This is an example description showing long text in some of the items. Here is some UTF text €	\$33.12	242	10/30/2027	958	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count		D 000	Units In Stock
Product50	This is an example description showing long text in some of the items. Here is some UTF text €	\$43.19	926	9/21/2026	355	No
Product51	This is an example description showing long text in some of the items. Here is some UTF text €	\$68.75	64	3/23/2026	623	No
Product52	This is an example description showing long text in some of the items. Here is some UTF text €	\$14.48	597	12/31/2027	587	No
Product53	This is an example description showing long text in some of the items. Here is some UTF text €	\$15.68	135	5/25/2027	997	No
Product54	This is an example description showing long text in some of the items. Here is some UTF text €	\$36.42	870	1/25/2026	330	No
Product55	This is an example description showing long text in some of the items. Here is some UTF text €	\$27.82	896	7/20/2027	770	No
Product56	This is an example description showing long text in some of the items. Here is some UTF text €	\$52.66	759	11/11/2026	75	Yes

This is a sample report showing how Doddle Report works

Low Stock

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase	CIER	
Product57	This is an example description showing long text in some of the items. Here is some UTF text €	\$94.24	264	3/20/2026	376	No
Product58	This is an example description showing long text in some of the items. Here is some UTF text €	\$55.06	542	4/2/2026	50	Yes
Product59	This is an example description showing long text in some of the items. Here is some UTF text €	\$9.71	23	3/16/2027	986	No
Product60	This is an example description showing long text in some of the items. Here is some UTF text €	\$40.65	780	5/19/2027	572	No
Product61	This is an example description showing long text in some of the items. Here is some UTF text €	\$98.11	790	6/14/2026	249	Yes
Product62	This is an example description showing long text in some of the items. Here is some UTF text €	\$44.18	504	12/13/2027	461	No
Product63	This is an example description showing long text in some of the items. Here is some UTF text €	\$4.65	507	5/24/2027	534	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

Name	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product64	This is an example description showing long text in some of the items. Here is some UTF text €	\$19.01	664	10/21/2027	927	No
Product65	This is an example description showing long text in some of the items. Here is some UTF text €	\$57.90	176	5/26/2027	880	No
Product66	This is an example description showing long text in some of the items. Here is some UTF text €	\$34.78	523	8/19/2025	614	No
Product67	This is an example description showing long text in some of the items. Here is some UTF text €	\$87.29	630	12/31/2027	341	No
Product68	This is an example description showing long text in some of the items. Here is some UTF text €	\$25.95	208	1/24/2028	497	No
Product69	This is an example description showing long text in some of the items. Here is some UTF text €	\$22.27	163	9/11/2027	735	No
Product70	This is an example description showing long text in some of the items. Here is some UTF text €	\$42.46	235	4/8/2027	437	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product71	This is an example description showing long text in some of the items. Here is some UTF text €	\$38.17	788	6/9/2026	43	Yes
Product72	This is an example description showing long text in some of the items. Here is some UTF text €	\$86.23	727	11/21/2027	432	No
Product73	This is an example description showing long text in some of the items. Here is some UTF text €	\$19.39	682	8/25/2026	229	Yes
Product74	This is an example description showing long text in some of the items. Here is some UTF text €	\$9.94	794	2/24/2026	457	No
Product75	This is an example description showing long text in some of the items. Here is some UTF text €	\$75.42	720	7/26/2026	811	No
Product76	This is an example description showing long text in some of the items. Here is some UTF text €	\$60.49	541	1/31/2026	837	No
Product77	This is an example description showing long text in some of the items. Here is some UTF text €	\$58.30	182	5/22/2026	26	Yes

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product78	This is an example description showing long text in some of the items. Here is some UTF text €	\$87.52	93	11/29/2026	343	No
Product79	This is an example description showing long text in some of the items. Here is some UTF text €	\$54.35	243	11/24/2026	559	No
Product80	This is an example description showing long text in some of the items. Here is some UTF text €	\$19.35	993	8/5/2027	145	Yes
Product81	This is an example description showing long text in some of the items. Here is some UTF text €	\$76.99	467	12/8/2025	576	No
Product82	This is an example description showing long text in some of the items. Here is some UTF text €	\$80.10	694	8/16/2026	428	No
Product83	This is an example description showing long text in some of the items. Here is some UTF text €	\$93.86	331	3/21/2028	704	No
Product84	This is an example description showing long text in some of the items. Here is some UTF text €	\$85.87	821	10/24/2027	839	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

Name	Description	<u>Price</u>	Order Count	Last Purchase	Units in Stock	
Product85	This is an example description showing long text in some of the items. Here is some UTF text €	\$58.67	492	10/17/2026	680	No
Product86	This is an example description showing long text in some of the items. Here is some UTF text €	\$41.52	833	1/22/2027	100	Yes
Product87	This is an example description showing long text in some of the items. Here is some UTF text €	\$17.93	64	5/31/2027	855	No
Product88	This is an example description showing long text in some of the items. Here is some UTF text €	\$29.55	665	4/3/2026	760	No
Product89	This is an example description showing long text in some of the items. Here is some UTF text €	\$96.81	231	8/24/2025	137	Yes
Product90	This is an example description showing long text in some of the items. Here is some UTF text €	\$39.48	624	8/19/2025	888	No
Product91	This is an example description showing long text in some of the items. Here is some UTF text €	\$78.40	883	10/9/2025	543	No

This is a sample report showing how Doddle Report works

Low Stock

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product92	This is an example description showing long text in some of the items. Here is some UTF text €	\$11.23	799	11/10/2026	721	No
Product93	This is an example description showing long text in some of the items. Here is some UTF text €	\$41.11	658	3/12/2028	700	No
Product94	This is an example description showing long text in some of the items. Here is some UTF text €	\$53.31	72	7/14/2027	936	No
Product95	This is an example description showing long text in some of the items. Here is some UTF text €	\$91.00	47	8/15/2026	736	No
Product96	This is an example description showing long text in some of the items. Here is some UTF text €	\$0.85	542	11/24/2025	272	Yes
Product97	This is an example description showing long text in some of the items. Here is some UTF text €	\$6.78	220	7/19/2027	627	No
Product98	This is an example description showing long text in some of the items. Here is some UTF text €	\$77.98	695	10/1/2026	961	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase	Units in Stock	- - - -
Product99	This is an example description showing long text in some of the items. Here is some UTF text €	\$45.60	571	12/27/2027	531	No
Product100	This is an example description showing long text in some of the items. Here is some UTF text €	\$74.59	14	3/27/2028	380	No
Product101	This is an example description showing long text in some of the items. Here is some UTF text €	\$58.01	964	10/1/2026	636	No
Product102	This is an example description showing long text in some of the items. Here is some UTF text €	\$69.30	563	2/26/2026	895	No
Product103	This is an example description showing long text in some of the items. Here is some UTF text €	\$50.13	105	2/26/2026	347	No
Product104	This is an example description showing long text in some of the items. Here is some UTF text €	\$22.72	300	12/10/2027	241	Yes
Product105	This is an example description showing long text in some of the items. Here is some UTF text €	\$75.03	815	11/1/2026	891	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase	CHILS II OLOGG	
Product106	This is an example description showing long text in some of the items. Here is some UTF text €	\$6.33	857	2/11/2028	715	No
Product107	This is an example description showing long text in some of the items. Here is some UTF text €	\$21.38	10	3/15/2026	961	No
Product108	This is an example description showing long text in some of the items. Here is some UTF text €	\$17.63	198	1/20/2026	895	No
Product109	This is an example description showing long text in some of the items. Here is some UTF text €	\$5.92	17	12/17/2025	44	Yes
Product110	This is an example description showing long text in some of the items. Here is some UTF text €	\$9.79	496	2/13/2027	504	No
Product111	This is an example description showing long text in some of the items. Here is some UTF text €	\$99.30	840	11/16/2025	674	No
Product112	This is an example description showing long text in some of the items. Here is some UTF text €	\$46.78	97	7/18/2027	155	Yes

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product113	This is an example description showing long text in some of the items. Here is some UTF text €	\$69.21	654	9/3/2027	930	No
Product114	This is an example description showing long text in some of the items. Here is some UTF text €	\$53.84	96	5/26/2026	722	No
Product115	This is an example description showing long text in some of the items. Here is some UTF text €	\$2.21	728	9/9/2026	682	No
Product116	This is an example description showing long text in some of the items. Here is some UTF text €	\$31.80	266	7/3/2027	302	No
Product117	This is an example description showing long text in some of the items. Here is some UTF text €	\$91.55	331	4/28/2026	209	Yes
Product118	This is an example description showing long text in some of the items. Here is some UTF text €	\$14.41	835	12/4/2025	253	Yes
Product119	This is an example description showing long text in some of the items. Here is some UTF text €	\$23.51	970	12/29/2027	223	Yes

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product120	This is an example description showing long text in some of the items. Here is some UTF text €	\$73.18	268	3/19/2026	116	Yes
Product121	This is an example description showing long text in some of the items. Here is some UTF text €	\$27.60	89	4/9/2026	521	No
Product122	This is an example description showing long text in some of the items. Here is some UTF text €	\$41.73	259	7/6/2026	963	No
Product123	This is an example description showing long text in some of the items. Here is some UTF text €	\$70.07	433	8/5/2025	369	No
Product124	This is an example description showing long text in some of the items. Here is some UTF text €	\$7.35	897	1/16/2026	726	No
Product125	This is an example description showing long text in some of the items. Here is some UTF text €	\$12.05	823	8/11/2027	136	Yes
Product126	This is an example description showing long text in some of the items. Here is some UTF text €	\$80.86	525	7/25/2025	856	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

Name	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product127	This is an example description showing long text in some of the items. Here is some UTF text €	\$51.09	527	6/9/2027	567	No
Product128	This is an example description showing long text in some of the items. Here is some UTF text €	\$19.75	93	3/30/2028	754	No
Product129	This is an example description showing long text in some of the items. Here is some UTF text €	\$48.06	306	8/24/2026	228	Yes
Product130	This is an example description showing long text in some of the items. Here is some UTF text €	\$99.76	197	12/16/2027	656	No
Product131	This is an example description showing long text in some of the items. Here is some UTF text €	\$97.39	325	12/5/2026	710	No
Product132	This is an example description showing long text in some of the items. Here is some UTF text €	\$81.34	774	1/10/2026	337	No
Product133	This is an example description showing long text in some of the items. Here is some UTF text €	\$78.41	172	10/24/2025	908	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

Name	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product134	This is an example description showing long text in some of the items. Here is some UTF text €	\$50.95	111	5/18/2026	750	No
Product135	This is an example description showing long text in some of the items. Here is some UTF text €	\$7.77	412	7/24/2025	889	No
Product136	This is an example description showing long text in some of the items. Here is some UTF text €	\$56.36	789	8/18/2027	607	No
Product137	This is an example description showing long text in some of the items. Here is some UTF text €	\$44.28	268	12/19/2027	767	No
Product138	This is an example description showing long text in some of the items. Here is some UTF text €	\$49.16	958	7/12/2027	922	No
Product139	This is an example description showing long text in some of the items. Here is some UTF text €	\$93.76	102	12/23/2025	482	No
Product140	This is an example description showing long text in some of the items. Here is some UTF text €	\$1.60	301	8/26/2025	736	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product141	This is an example description showing long text in some of the items. Here is some UTF text €	\$34.70	358	9/5/2027	25	Yes
Product142	This is an example description showing long text in some of the items. Here is some UTF text €	\$99.08	82	3/15/2026	368	No
Product143	This is an example description showing long text in some of the items. Here is some UTF text €	\$99.83	655	12/12/2025	585	No
Product144	This is an example description showing long text in some of the items. Here is some UTF text €	\$18.71	995	10/14/2025	183	Yes
Product145	This is an example description showing long text in some of the items. Here is some UTF text €	\$56.01	901	4/7/2026	545	No
Product146	This is an example description showing long text in some of the items. Here is some UTF text €	\$88.60	413	11/6/2027	826	No
Product147	This is an example description showing long text in some of the items. Here is some UTF text €	\$44.35	180	3/11/2028	407	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase	Office III Olock	
Product148	This is an example description showing long text in some of the items. Here is some UTF text €	\$94.93	825	7/18/2027	776	No
Product149	This is an example description showing long text in some of the items. Here is some UTF text €	\$36.95	274	1/7/2027	205	Yes
Product150	This is an example description showing long text in some of the items. Here is some UTF text €	\$0.65	740	3/22/2027	360	No
Product151	This is an example description showing long text in some of the items. Here is some UTF text €	\$2.34	519	8/21/2027	836	No
Product152	This is an example description showing long text in some of the items. Here is some UTF text €	\$80.70	143	7/19/2027	942	No
Product153	This is an example description showing long text in some of the items. Here is some UTF text €	\$0.97	978	1/22/2028	114	Yes
Product154	This is an example description showing long text in some of the items. Here is some UTF text €	\$3.36	497	11/11/2027	933	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product155	This is an example description showing long text in some of the items. Here is some UTF text €	\$51.26	957	2/15/2027	810	No
Product156	This is an example description showing long text in some of the items. Here is some UTF text €	\$11.10	837	9/6/2026	173	Yes
Product157	This is an example description showing long text in some of the items. Here is some UTF text €	\$92.02	374	2/14/2026	912	No
Product158	This is an example description showing long text in some of the items. Here is some UTF text €	\$45.27	887	1/7/2026	819	No
Product159	This is an example description showing long text in some of the items. Here is some UTF text €	\$28.57	906	12/17/2026	366	No
Product160	This is an example description showing long text in some of the items. Here is some UTF text €	\$64.43	9	8/2/2025	299	Yes
Product161	This is an example description showing long text in some of the items. Here is some UTF text €	\$44.46	29	8/15/2026	970	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

Name	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase	Units In Stock	
Product162	This is an example description showing long text in some of the items. Here is some UTF text €	\$90.21	620	7/26/2027	871	No
Product163	This is an example description showing long text in some of the items. Here is some UTF text €	\$42.38	608	6/6/2027	49	Yes
Product164	This is an example description showing long text in some of the items. Here is some UTF text €	\$15.86	805	3/20/2026	185	Yes
Product165	This is an example description showing long text in some of the items. Here is some UTF text €	\$10.01	595	1/16/2028	432	No
Product166	This is an example description showing long text in some of the items. Here is some UTF text €	\$92.83	822	11/15/2026	122	Yes
Product167	This is an example description showing long text in some of the items. Here is some UTF text €	\$80.11	103	10/20/2027	126	Yes
Product168	This is an example description showing long text in some of the items. Here is some UTF text €	\$97.57	484	4/29/2026	503	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

Name	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product169	This is an example description showing long text in some of the items. Here is some UTF text €	\$93.84	282	7/15/2026	81	Yes
Product170	This is an example description showing long text in some of the items. Here is some UTF text €	\$44.01	448	4/11/2026	299	Yes
Product171	This is an example description showing long text in some of the items. Here is some UTF text €	\$63.17	343	11/14/2026	843	No
Product172	This is an example description showing long text in some of the items. Here is some UTF text €	\$19.48	128	5/6/2027	480	No
Product173	This is an example description showing long text in some of the items. Here is some UTF text €	\$65.72	336	4/6/2026	48	Yes
Product174	This is an example description showing long text in some of the items. Here is some UTF text €	\$9.30	586	7/20/2026	621	No
Product175	This is an example description showing long text in some of the items. Here is some UTF text €	\$53.97	275	12/30/2025	798	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Fulcilase		Units In Stock
Product176	This is an example description showing long text in some of the items. Here is some UTF text €	\$79.26	616	12/27/2027	939	No
Product177	This is an example description showing long text in some of the items. Here is some UTF text €	\$31.94	189	11/1/2025	876	No
Product178	This is an example description showing long text in some of the items. Here is some UTF text €	\$43.94	167	7/29/2027	651	No
Product179	This is an example description showing long text in some of the items. Here is some UTF text €	\$32.45	617	9/22/2027	584	No
Product180	This is an example description showing long text in some of the items. Here is some UTF text €	\$33.37	645	1/27/2028	672	No
Product181	This is an example description showing long text in some of the items. Here is some UTF text €	\$44.21	348	10/26/2026	639	No
Product182	This is an example description showing long text in some of the items. Here is some UTF text €	\$21.81	240	8/28/2026	351	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

Name	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product183	This is an example description showing long text in some of the items. Here is some UTF text €	\$91.07	744	1/7/2027	165	Yes
Product184	This is an example description showing long text in some of the items. Here is some UTF text €	\$27.93	472	12/2/2026	15	Yes
Product185	This is an example description showing long text in some of the items. Here is some UTF text €	\$44.77	549	12/20/2026	5	Yes
Product186	This is an example description showing long text in some of the items. Here is some UTF text €	\$1.77	784	8/23/2025	489	No
Product187	This is an example description showing long text in some of the items. Here is some UTF text €	\$59.03	614	7/8/2027	475	No
Product188	This is an example description showing long text in some of the items. Here is some UTF text €	\$78.59	786	4/28/2026	894	No
Product189	This is an example description showing long text in some of the items. Here is some UTF text €	\$34.74	496	7/5/2026	444	No

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM Total Products: 200 Total Orders: 101180 Total Sales: \$20,236,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product190	This is an example description showing long text in some of the items. Here is some UTF text €	\$14.69	256	7/5/2027	78	Yes
Product191	This is an example description showing long text in some of the items. Here is some UTF text €	\$77.90	758	3/5/2028	695	No
Product192	This is an example description showing long text in some of the items. Here is some UTF text €	\$62.55	580	7/21/2026	852	No
Product193	This is an example description showing long text in some of the items. Here is some UTF text €	\$11.05	785	11/27/2025	784	No
Product194	This is an example description showing long text in some of the items. Here is some UTF text €	\$12.13	922	4/30/2027	657	No
Product195	This is an example description showing long text in some of the items. Here is some UTF text €	\$30.74	979	9/1/2025	603	No
Product196	This is an example description showing long text in some of the items. Here is some UTF text €	\$51.69	934	1/30/2027	123	Yes

This is a sample report showing how Doddle Report works

Report Generated: 7/14/2025 10:35:00 PM

Total Products: 200
Total Orders: 101180
Total Sales: \$20,236,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock	LOW STOCK
Product197	This is an example description showing long text in some of the items. Here is some UTF text €	\$45.59	648	10/9/2027	782	No	
Product198	This is an example description showing long text in some of the items. Here is some UTF text €	\$11.55	62	11/29/2027	191	Yes	
Product199	This is an example description showing long text in some of the items. Here is some UTF text €	\$82.77	445	2/25/2026	258	Yes	
Product200	This is an example description showing long text in some of the items. Here is some UTF text €	\$81.88	345	11/24/2027	9	Yes	
		\$9,857.04					
O : 1:0044() TI B !!! B : :							

Copyright 2011 (c) The Doddle Project